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SECTION A [30 marks]

Answer the questions on three of the passages. The three passages should be selected from two prescribed
topics only.

1.  The Homeric Epic

(a) Homer Odyssey 21.285-304

s &pad’, ol &’ dpa mdvres OmepdLddws vepéomnoav, 285
deloavres ) T6€ov &bEoov évravioelev.
"Avtivoos 8’ &véwmev émos T’ &bat’ &k T’ dvépalev-
“a delde Eelvov, &w Tou Ppéves o0d’ MBaral:
9 b ~ [ANN/4 e /A 9 e ~
ovk dyards & ékmAos Umepprddoor ped’ Tuiv
datvvoar, o08é Tu dauTds Gpépdear, adTap drkodels 290
/ e 4 \ e . IQ/ ”
pOBwv TpeTépwv kal prlotos; oddE Tis dAAos
Mpetépwv pobov E€lvos kal mTwyds drovdel.
4 J4 / 4 \ ¥
olvds oe Tpwer pLeAunds, 8s Te kal dAAovs
A / (3% 14 8\ a 9 ” /
BAdmreL, 6s dv pv xavdov €é\m pmd’ alowpa mivy.
a \ / 9 \ k4 4
olvos kat Kévravpov, dyakdvtov Edputiova, 295
” 9 9.\ ’ / H 4
dao’ évi peydpe peyabipov Iletpbboro,
& AamiBas ENBSVE’: 6 &’ &mel dpévas daoev olvey,
4 ’ 9 ¥» 4 ’ J4
patvopevos kak’ &pefe dépov kdrta IlerpBboro-
fipwas &’ dyos elle, dex mpobipov 3¢ Bipale
e/)\ ) * s 9 » )\i . )\ ~
&\kov dvailfavres, dm’ odaTta vmAEL XaAkD 300
e~ 7 9 9 g ¢ \ \ ? 3 \
pivds T apmoavtes: 6 3¢ Ppeoiv fowv daoels
fiiev v dtnv dxéwv deoidpove Bupd.
bl Il / \ 9 A ~ b /
&€ ob Kevradpoiou kal avdpdot velkos étioydm,
ol 8’ adT® mMPWTY Kakdv ebpeto olvoPapelwv.

(i) At lines 287-304 ( AvTivoos.. olvoBapelwv), to whom is Antinods
speaking? To whom does he think he is speaking and what is the fear that

prompts this speech? [3 marks]
(ii)  Scan lines 298-9 (pawvopevos. . Bopale). [2 marks]
(iii) Translate €€ o¥ ... olvoBapelwv. (lines 303-4). [3 marks]
(iv) Why is Antinods’ rebuke particularly surprising? [2 marks]

2207-2952
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(b) Homer Odyssey 22.344-55

2207-2952

@

(i)

13 ~ 4 2 ~ \ / 2 ” 7 2 9 4
yovvobpat o’,’ Odvoed: ob 8€ P’ aldeo kal p’ EAémoov:

)~ 4 > v P4 ” 2 \
adT® Tou petomod’ dyos éocetan, €l kev doldov

J4 (74 ~ \ 9 7 2 7
médvrs, 8s Te Beolor kal dvBpdmorowy deldw.

9 4 9 ? 7 \ 4 ) \ 4
adTodidakTos & elpl, Oeds 8€ pov év Pppeoiv olpas
TavTolas éveéduoev: &oka dé Tou mapaeldelv
s Te Bed* T® pe Adaleo derpoTopdioal.

4 4 /A b ” \ 4 e/
kal kev TmAépayos 1dde y’ elmor, ods Pldos vids,
e 9 \ kA e \ 9 \ / k4 \ /7
0s éyw oV TL €kwv & oov dopov ovde yaTilwv
ToAedpmy pvnoTipowv delobpevos peta daitas,

’ \ \ / \ ’ 3 3.7 )
(I.)\AG. 1TO>\‘U TI'AGOVGS KAl KPELOOOVES TyOovV AVAYKT).

[3% ’ ~ b 4 % e \ N V4

s paTo, Tod 3’ Mfrovs’ lepmn s TmAepdyoro,

ol 9 e\ V 7 b \ %7
alpa &’ €O0v maTtépa mpooedwveev Eyyvs &dvra

345

350

355

yovvodpal . dvdykn. (lines 344-53) name the speaker of these words
and explain what he has been doing in the presence of the suitors.

Translate @OT® Tou .. deldw (lines 345-6).

(iii) Scan lines 349-50 (s Te Bed ... dlAos vids).

(iv)

killed.

Give three reasons why, according to the speaker, he should not be

[2 marks]

[3 marks]

[2 marks]

[3 marks]

Turn over
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2.  Greek Tragedy

(@)

2207-2952

Euripides Medea 389-409

(i)

(iii)
(iv)

pelvac’ odv €T opkpdv ypbvov,
" A (e / M) \ ~
TNV REV TLS TV TUPYOS a.cdm)\'ns bavi, 390
d30Ay péterpr TéHVde Kkal ovyd) pévov:
R 2 b / A 2 kA /
v 8 &€eladvy Evpdopd 1’ dprfyavos,
adT Eldos AaBoboa, kel peddw Bavelv,
kTev®d ode, TOApMs & elpr mpds TO kapTepdv.
oV yap pa TNV déomovav fv éyw céfw 395
pdAtoTa mhvtov kal Euvepydv elAépmv,
‘Exdtmv, puxols valovoav €otias épds,
Xalpwv Tis adTOV TodpOV dAyvvel kéap.
\ 8’ 9 ’ \ A \ 6 / 4

mkpovs & &yw oLy kal Avypovs Bow ydpovs,

\ 8\ f\8 \ \ bl \ e J4
mkpov d¢ kfdos kal Puyas épnas xBovods. 400
2 ki iy 7 \ T 2 7
AAN’ ela deldov pmdev dv émloTaocar,
Mdera, BovAedovoa kal Texvwpévn:
e ki 9 \ 4 ~ v \ K ’
épm’ & TO dewvdv: viv dywv edfuyias.
e ~ f3Y ’ \ ki 4 ~ b b ~
opds & mdoyers od yédwTa det o’ dPAelv
Tols Xwovdelots Tolod’ “ldoovos ydpors, 405
veydoav &gbAod maTpds' HAlov 1’ dmo.
9 ’ J4 \ A \ /
émioTacar dé: mpds B¢ kal medikapev

~ 9 1 ” 2 b J4
yovaikes, & pev &b’ dpmyavaraTal,
KaKk®V 3¢ TAVTWV TEKTOVES codWITATAL.

v pév Tis . kapTepdv (lines 390-4). What two possible futures does
Medea contemplate here? Which actually occurs?

Scan lines 396-7 ( pdAvoTa TAvTOV ... €0Tlas ERAs).

Translate mkpovs 8’ &ya ... XBovds (lines 399-400).

Identify three remarks in this passage likely to provoke the audience to
lose sympathy with Medea.

[2 marks]

[2 marks]

[3 marks]

[3 marks]
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(b) Euripides Medea 741-58

@

(i)

(111)

(iv)

2207-2952

AL oAl &efas év Adyors mpopmbBlav-
aA)’, el dokel oo, dpdv Tdd ok ddloTapar.
9 7 AY IQY ) \ kA 4
&pol Te yap T8 éoTiv dodadéoTepa,
okfPtv mwv’ &xBpols ools &xovra dewkvivar,
70 odv 7’ dpape pdAdov: &myod Oeots. 745

Mm 3pvv medov I'fs matépa 6’ "HArov matpds
ToOpod Oedv Te cvvtifels dmav yévos.

Av 1l xpfjpa Spdoewv 4 1L p1 Spacerv; Aeye.

/9 9\ ] ~ ~ » % ~
Mn pAr’ adrds &k piis ofis ép’ ékPalélv moTe,
/% ¥

pAqT’ dAdos v Tis TOV Epdv &xBpdv dyev 750
xpln, pebfoerv Ldv éxovoley Tpbdmo.

Av  Bpvope Ialav ‘HAlov 6’ ayvév célas
Beols Te mdvTas &ppevelv & cov kAdw.

Mn dpket: 1l & Spke T®de p1) ppévov wdabous;
AL & Tolov duvooeBodor ylyverar Bpotdv. 755
M~ xalpwv mopelov: wdvra yap kalds éxel.

k] \ 4 A e A L) 4
kdy® mOAw omv ds Tdywor ddifopar,
7 2 o JA \ ~ 2 o 4
mpd€ac’ & péAlo kal Tuxodo’ & PodAopad.

moAM &erfas .. mpopmbiav (line 741). What has prompted Aedeus
to make this remark? How do his immediately following actions reveal
his sincerity?

Translate dPKE'l: BPOT‘TW (lines 754-5).
Scan lines 756-7 (Xatpwv ... ddi€opar).

mpdfac’ ... BobAopar (line 758). To what two achievements is Medea
referring here?

[3 marks]

[3 marks]

[2 marks]

[2 marks]

Turn over
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3.  Aristophanes’ Comedy

(a) Aristophanes Wasps 121-45

[x]
e

8te dMjta TadTALs Tols TedeTals ovk ddéMel,
démievoev els Alywav, eita EuAdaBav
/ i 9 \ 9 9 ~
VvikTop kaTékAwvev adTov els’ AokAmmiod,
e 9 9 ’ ~ 9 \ ~ ’
6 & dveddvn kvedaios ém T kuykALdi.
) f\e 9 J k4 \ 9 ’ 12
évtedbev odkér’ adTOV Efedpelopev, 5
6 8 &£edldpaocke dud Te TOV VIpoppodV
kal T@v omdv: Tpels 8 8o’ Mv TeTpmpéva
évefioapev pakiolol kdmakTOOALEY,
e 9 e \ \ e ~ 7
6 & domepel kodords adT® maTTdAovs
./ 9 \ ~ O ) lkk
&vékpovev & TOV Tolyov, elt &ENAAeTo. 130
e ~ 8\ \ ’A\ (4 8 /
Tpels 3¢ v adAnv dmacav ductdols
KATATETAOAVTES €V KUKAQ® PuAdTTOpEV.
9 Y ¥ ~ \ / 4
éotwv & Svopa T® pev yépovtt MdokAéwv
val pa Ala, 79 8 viel ye Tdl BdeAvkAéwv,
éxwv Tpdmovs dpuvaypoceprvdkovs Tivas. 135

=
Y

& ZEavila kal Xwotla, kabeddete;

[x]
e

b4
olpot.
Y]
2o Tl €oTLy

B8eAvkAéwv dvioTaTat.

[x]
e

B3 od mepdpapeitar odpdv Tayéws dedp’ drtepos;
e \ \ 3. \ 2 \ 9 7
6 yap matip & TOV Lmvov eloeAAvbde
kal puomodel T kaTadedukws. dAN’ dbpel 140
KaTd THs Muélov TO TR’ Emws pm ‘kdboeTal:
ob 8¢ 19 Bdpa mpbokeroo.

[x1
e

Tadr’, & SéomoTa.

B3 dvag Iléoedov, Tt mot’ dp’ 1 kdmvn Podel;
obTos Tls €l ov;

D kamvos éywy’ éE€pyopal.
B8 kamvds; dép’ 8w EOAov Tilvos o, 145
Do oukivov.

2207-2952
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(1)  Explain the context of this passage. [2 marks]
(i) Scan lines 124-5 (6 & dveddvn ... Eedpelopev). [2 marks]
(iii) Translate Nels 8& TV ... pvAdTTopev (lines 131-2). [3 marks]

(iv) Explain the humour either of 8Te 8fjTa ... kLykALdL (lines 121-4) or of
dvaé IMbéoewdov ... cukivov (lines 143-5). [3 marks]

2207-2952 Turn over
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(b) Aristophanes Wasps 891-911

B3 €l 7s B0paociv MALtaoThs, elottw:
9
e 4 V4 9 ”" 4 9 b 14
os Mvik’ dv Aéymorv, odk &adprioopev.

D 1is ap’ & dedywv;
B3 obTos.
078 8oov dAwoeTal.
B8 dkolder’ Hdm Tfs ypadis. &ypdiaTo
kbwv Kudabnvareds Adfnr’ Atfwvéa
TOV TUPOV Adkely 8T pévos kaTnobiev
Tov LikeAwkdv. Tipmpa kAwds ovkivos.
®.  BdvaTos pev odv kidvelos, v dmaf aAD.
B8 «kal pmv 6 dedywv odtool Adfms wdpa.
D @ pLapds odTos* s d¢ kal kAémTov PAémer,

»

olov geamnpos éfamatioewv p’ oletar.
mod 8’ 6 Suwkwv, 6 Kvdabnvarevs kdwv;

Kv ab abd.
B3 mdpeoTLv.

0%y &tepos obTos ad AdBms.
ka 4 ? ~ \ ! \ /.
dyabés v’ bGAakTelv kal Suadelyewv Tas yOTpas.

B3 olya, kdBle: ob 8’ dvaBds kaTnydper.

D.  Pépe vov dpa TNVE’ éyxedpevos kAyw Podd.

Kv 1fs pev ypadis Mrodoad’ fjv &ypaldpmv
dvdpes dukaoTal TouTovi. deLvdTaTa Yap
épywv d&dpake KApe kal TO pumrmamTal.

ha \ \ 9 \ ’ by \
dmodpas yap & TNV ywviav TupdV mWOALV
kaTeolk€Ale KAVETANT év T okdT.

2207-2952

895

900

905

910
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(1)  Explain, without giving details, the general context of this passage. [2 marks]
(i)  Scan lines 898-9 (Bdvaros ... AdBns mdpa ). [2 marks]
(iii) Translate ® prapds ... oletal. (lines 900-1). [3 marks]
(iv) Explain briefly three examples of features of Athenian life being satirized

here. [3 marks]

2207-2952 Turn over
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4. Herodotus and the beginnings of history.

(@)

v

2207-2952

Herodotus 1.40-41

k] 4 K ~ ”‘Q ~ »” ~ ~ 4 9 4
apetBerar Kpoloos: mal, éoTL TN pe vikds yvopmy drodatvev
Tepl ToD évumviov. @s GV vevikmMpévos VO 0éo PETAYLVOOKW,
petinpl Te o€ lévar &m v dypmv. elmas 8¢ TadTa 6 Kpoioos

/4 \ / 14 2 4 4 e 4 4
petamepmetar TOv Ppiya "Adpmorov, dmkopévey 8é ol Aéyer Tdde:
A8pmoTe, &yd oe ogupdopd] memAmypévov dydpiT, TV ToL ok 5
ovedilw, ékdmpa kal olkiovor dmodefdpevos éyw, mapéxwv maoav
damavnv: vhv @v, dpetdes yap épned mpomoLfioavtos xpmoTd és o

~ 7 A ’ k4 / 4 ~ 9 ~ 4
xpmoTolot e dpelfectal pdAaka wadés oe Tod Epod ypmilw
yvevéoBar & dypmy Oppopévov, pv Twes kat 686v kAdes

~ b \ 4 A e~ A 1 A A J4

kakoBpyor éml dnAfor dpavéwor Vpiv. mpds 8¢ TobTw Kal o€ Tou 10
Xpeodv ot iévar &vba dmodapmpuvéar Tolol €pyololt TaTpWLOY Te
yap ToL €0TL KAl TPOCETL POWLT VmdpyeL.

(i) Tob évumviov. (line 2). Explain what this dream had foretold and why
Croesus’ son thought that it did not apply to the present circumstance.

(ii) Translate "AdpnoTe, &yd oe ... damdvny (lines 5-7).

(i11) What does Croesus do, according to this passage, which suggests that he
is not entirely confident about his son’s safety?

(iv) Immediately after this passage, what two conflicting calculations occur to
Adrastus, and what does he decide to do?

[2 marks]

[3 marks]

[2 marks]

[3 marks]
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(b) Herodotus 1.84.4-85

6 @v 3 “Ypouddms obros 6 Mdpdos 8w T mpoTepainy TAV TLva
Avd&v katd TodTO THS dkpomdAios kaTaPdvTa ém kvvényv dvwbev
katakvAiobeloav kal dveAdpevov, éppdodn kal & Bupov &RdAero.

4 \ A 9 J4 k] 7 \ 9 9 A ” 4
Tote 3¢ 31 adTés Te dvaPePrikee kal kat’ adTov dAAov Ilepoéwv
k] 4 /A \ ~ e/ \ A J4 e ’
avéBaivov: mpooBdvtwv 8¢ ouxvdv obTw 87 Ldpdiés Te MAwkeoav 5

\ ~ \ k4 9 Ja b A\ \ ~ 7 %l
kal mdv 70 doTv €émopbéeto. kat’ adTov ¢ Kpoloov 1dde &ylvero.
v ol mals, Tod kal mpdTepov émepviodnv, Td pev dAAa émeiks,
L4 4 bl ~ o / kd ~ e ~ by ~ b
ddwvos 8. &v T dv maperbovoy edeorol 6 Kpoloos 10 wav &

k4 \ 2 4 14 9 4 \ \ \ 0 \
adTOV émemoitkee, dAAa Te émdpaldpevos kal 31 kal & Aelpods

\ 9 ~ 4 J4 e \ 4 ¢ 3 /A

mepl adTod €membppee xpmoopévous. 1 3¢ ITvbim ol elme Tdde- 10

Avde yévos, moAA&V Baociled, péya viime Kpoloe,
\ / / 2\ k] \ 4 ? 9 /

p1 BodAov moddevkTov iMv dva ddpat’ droderv

mawdos Ppheyyopévov. 70 8€ cou mOAL Awov dpdis

éppevar: addnoel yap év fpat mpdTov AvéABo.

Qk 4 8\ ~ ’ » \ ~ H J4 ’AA 4
aAiokopévov 81 Tod Telyeos, fre yap Tdv Tis Ilepoéwv dAAoyvaoas 15
Kpotoov @s dmokTevéwv, Kpoloos pév vov 6péwv émébvra OO THs
/ ~ / 9 Q\ ’ e 4 J4

mapeotons ovpdopfs mapmeAmkee, ovde T ol diédepe TANYEVTL
k3 ~ e \ ~ Il e ” 3 3 )] 4 \ 4
dmoBavelv: 6 8¢ mals odTos 6 ddwvos s elde émébvra Tov Ilépomy,
e \ i \ ~ 7 4 = \ ¥ AY
OO déovs Te kal kakod EppnEe dwviv, eime 3¢ "Qvbpwme, w1

~ ~ ol \ \ ~ ~ b / \ \
kte€lve Kpoloov. obrtos pev 84 todto mpdrov &édpbeyaTo, peta d¢ 20
TobTo 1dn &pwvee TOV mdvTa xpdvov THs L[éms.

(i) 6 v 87 ... éBaAeTo (lines 1-3). What two facts have made it seem
impossible for the Persians to enter the city, and what happened to disprove
one of them? [3 marks]

(i) Avde& yévos. ... mpdTOv AvOABw (lines 11-14). To what problem does
this oracle refer, and how was it fulfilled? [2 marks]

(iii) odd& Ti ol duédepe mANYéVTL dmobavelv (lines 17-18). What was
Croesus’attitude at this point, and why was his son’s reaction important for
the rest of the story? [2 marks]

(iv) Translate 6 8¢ mals ... Kpoloov (lines 18-20). [3 marks]

2207-2952 Turn over
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5.  Socrates portrayed by Plato

(a) Plato Apology 26e6-27c2

"Amotés v €l, ® MélnTe, kal Tadra pévrol, ds &pol Sokels,
cavTd. éLol yap dokel ovTool, ® dvdpes 'ABnvdilol, mavy elvar
vBpLoTis kal dkdAacTos, kal dtexvids TNV ypadnv TadTNV HBpeL
T kal dkodaote kal vedrmT ypdiacHar.

27 (a) éowkev yop domep alviypa ovvtibévt Suamelpopéve: "Apa 5
yvooetar Zokpdtns 6 copods 31 &rod yaprevrilopévov kal évavrl’
épavt®d Aéyovtos, 1) éamatiow adTOV kal Tobs dAAous Tovs
dkovovTtas; obTos yap épol patvetar Td &vavtia Aéyewv adrtds EquTd
9 ~ ~ e ”n 9 ” b ~ ’ \ 9
é&v T ypadf) domep v el elmor: *Adikel Lokpdtns Beovs od
vopilwv, dAAd Oeods vopilwv. kaltor Tokpdtns Beods o vopilwv, 10
b \ \ !’ 7 ~ 14 b 4 4
dAAo Oeods vopllwv. kaltoltodtéd €om matlovros. Xuvemokéaohe
31, ® dvdpes, 7 pov dalvetar Tadra Aéyewv: ob 3¢ Muilv dmdkpivar,

o J4 3 ~ / e L ] \ 3 ~ 1A
® Mélnre. Vpels 3¢, 8mep (b) kat’ dpyas Opds mapyTmodpunv,

7 4 \ ~ 9\ 9 ~ b 4 4 \ k/
pepvnodé por p BopuBelv &av &v 1@ elwbdt Tpdémw Tods Adyous

~ ” e 9 /4 5 4 9 4 \
mowdpar. "Eotwv 8oms dvBpdmov, & Mélnre, dvBpdmera pév 15
4 /7 9 > b 4 \ 9 4 9 4 o)

vopiler mpdypat’ elvai, dvBpdmouvs d& od vopiler; dmokpivéaduw, @

” \ \ ” \ b ’ 9 Y e 124 \ kd
dvdpes, kal p7 dAAa kal dAAa BopuBeltw: €08’ BoTis immous pev od
vopiler, immka 8¢ mpdypata; 4 adAnTds pev od vopller elvar,
adAnTikd 8¢ mpdypaTa; odk €oTw, @ dploTe AvdpdV: el ) ov
BovAev dmokpivesBar, &yw ool Aéyw kal Tols dAAois TouTolol. dAAG 20
\ b \ / 9 4 Y 2 % e 4 by 4
TO €ml ToOTW ye dmbékpivar (¢) €0’ Sotis Sarpdvia pev vopiler
mpdypat elvai, dalpovas & od vopiler;

(i) From which two possible beliefs about the gods has Socrates just asked
Meletus to choose the one he thought described Socrates’ belief? Which
one did Meletus choose? [2 marks]

(i1) vBpLoTs Kal dkdAaoTos, (line 3). Explain whether, in your opinion,
Socrates is justified in using these words of Meletus. You will be judged
on the quality of your response, not on the conclusion you come to. [3 marks]

(ili) pépvnobée pou pum BopuBelv (line 14). Why was it necessary for
Socrates to say this? [2 marks]

(iv) Translate €L p7) ov ... dwokpivar (lines 19-21). [3 marks]

2207-2952
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(b) Plato Apology 40e7-41c8

€L ydp Tis

41(a) dadikopevos els “Aidov, dmaddayels TovTwVl TOV PackdvTov
dkaoTdv elvar, edpiloel Tods ws 4AM0Bs dikaords, olmep kal
Aéyovtar éxel dwkdlewv, Mivws Te kal ‘PaddpavBus kat Alakds kal
4 \ 9 o ~ e 4 4 2 4 2 ~
Tpumrédepos kat dAdov 8oov Tdv Mpbéwv dlkatol &yévovto &v 19 5
€ ~ 4 o / 2 g e 4 0 R4 ~
eavtdv Blw, dpa GpadAn dv elm 1 dmodmpla; A ad "Opdel
7 \ 4 e J4 \ ¢ / b \ 4 b4
ovyyevésfar kai Movoalw kal ‘Howédy kal ‘Opfpw ém mbow dv
J4 29 = e ~ b \ \ \ 7 9 J4 7 ki
Tis dekart’ dv DpdV; Eyw pév yap moAAdkis 0w Tebvdvar el
~_ % % ,k en )] \ ‘i}» A 9 ~ 6 A ¥ e
TadT €oTwv aAnB). émel (b) épovye kal adT® BavpaoTn &v €ln 7
8 A 3 4 e 4 bl / / \ ” ~
vatpLfn adTobl, 6mote évrtiyouyu Iadapnider kal Alavt 1o 10
~ \ L4 k24 ~ ~ AY I4 k24
Telapdvos kal €l Tis dAdos TOV Tadardv dua kploww ddikov
J4 9 A \ b ~ 4 Y \ 9 4 e
Tebvnrev, dvrimapaBdAdovt To épavTod mdby mpds TA ékelvov—as
&y olpat, odk dv dmdes eln—xal 31 70 wéyLoTov, Tovs ékel
éEetdlovta kal épevvdvra Gomep Tods évradba didyewv, Tls adTdV
4 2 A 4 14 4 J ? »” 3\ 4 Y v
codds EoTLv kal Tis oleTal pév, éomv d ob. &éml moow & dv T, 15
) \ 4 £ 4 2 2 . LRSI 7 ? O
éoTwv kal Tis oleTtar pév, €omv 3’ of. éml woow & dv Tis, @ dvdpes
’ ’ ) 7 [ ’ ’ ’ IR
dikaoral, 8éEarto Eetdoar TOv ém Tpolav dyaydbvra (¢) Tv
moAAMv otpaTiav 4 ‘’Odvocéa 1) Licvdov 7 dAAous puplovs dv Ts
elmor kal dvdpas kal yvvdikas, ols ékel Sradéyeofar kal ovvelvar
2 14 2 4 N ” 9 / 7 > U4
kal &erdlewv dprfyavov dv elm eddarpovias; mdvrws od dNmov 20
To0TOV ye €veka ol €k€l dmokTelvovor: Td Te yap dAAa
9 4 4 b e b ~ ~ b 4 A L4 \ Y
ebdarpovéaTepol elowv ol ékel Tdv &évBade, kal 7dm ToOv Aovmodv
xpovov dfdvatol elowv, elmep ye Ta Aeydpeva dAmB4.

(i) Translate j ad 'Opdet ... v dpdv (lines 6-8). [3 marks]

(i) Todaphde kal Alavr 7@ Telapdvos (lines 10-11). What features
of the stories of these two men explain why Socrates would think them

similar to himself? [3 marks]
(iii) xal M 76 .. &otw 8 o (lines 13-15). Why is this sentence particularly

likely to irritate Socrates’ judges? [2 marks]
(iv) Td Te yap dAAa ... A0 (lines 21-23). What two things does Socrates

think he will be safe from in the afterlife? [2 marks]
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SECTION B [10 marks]
Answer one question from this section.

6.  Show with evidence from both the Odyssey and the lliad, Homer’s ability to treat pathos.

7.  Compare and contrast the skill in a plot construction found in any two of the tragedies you have
read.

8.  Analyse two scenes from two different plays of Aristophanes to illustrate his versatility.

9.  What, in your opinion, are the most important differences between Herodotus and Thucydides as
historians? You should support your conclusions with reference to Heredotus 1 and Thucydides 7.

10. “Reading Plato’s account of Socrates releases us from the fear of death.” Support or contradict this
statement using at least two of Apology, Euthyphro, Crito, and Phaedo.
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